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Use the visual model to solve each problem.
1) 3 × 0.85 =

2) 2 × 0.3 =

3) 2 × 0.37 =

4) 2 × 0.7 =

5) 3 × 0.6 =

6) 3 × 0.80 =

Answers

1.

255⁄100 = 2.55

2.

6⁄10 = 0.6

3.

74⁄100 = 0.74

4.

14⁄10 = 1.4

5.

18⁄10 = 1.8

6.

240⁄100 = 2.4

1-6 83 67 50 33 17 0
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Use the visual model to solve each problem.
1) 3 × 0.85 =

2) 2 × 0.3 =

3) 2 × 0.37 =

4) 2 × 0.7 =

5) 3 × 0.6 =

6) 3 × 0.80 =

Answers

1.

255⁄100 = 2.55

2.

6⁄10 = 0.6

3.

74⁄100 = 0.74

4.

14⁄10 = 1.4

5.

18⁄10 = 1.8

6.

240⁄100 = 2.4

1-6 83 67 50 33 17 0
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